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(B) WA LR BN ERT HBED LR ENES(m) (F) O LB AERT 2BEDLREOBHE(M) %i%wiﬁtfégfﬁi‘ﬂﬁ%%it J_“ﬁ@f‘ﬁ& FR ¥ 3 AHTAHATKH
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RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) F) (G) (H)
(1) - - 94.7 1.0 - - 10.2 2.0 - - 94.7 1.0 - - 10.2 2.0
(2) 108.4 1.0 99.5 1.0 - - 11.7 2.3 108.4 1.0 99.2 1.0 - - 11.7 2.3
( 3) - - 99.2 1.0 - - 11.7 2.3 - - 99.2 1.0 - - 11.7 2.3
( 4) 108.9 1.0 100.0 1.0 - - 12.0 2.4 108.9 1.0 99.0 1.0 - - 120 24
(5) 1404 1.0 99.6 1.0 - - 14.4 2.8 140.4 1.0 974 1.0 - - 144 2.8
(6) - - 98.2 1.0 - - 10.4 2.1 - - 98.2 1.0 - - 104 2.1
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